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, N} 1



I1]:= D[x*3, X]

Quf1]= 3 x°

2= D[X*3, (X, 2}]

Qu2]= 6 x

7= D[X"*3, (X, 2}]/. X-> 2
Qu7]= 12

IN11]:= D[£[X], X]

Out[11]= £'[x]

[V I s |

[V O s | LA 1 2l l

[V I




+

. sin(x?) X
2. log(x)sin(x) x 3

1<x<3
( Plot



D[

D[

» 1

1, 2
G)
1,N1}, {

C.)

2,N2}, .]



+

In[8]:= D[x"2yv "3, X, VY]

out[g]= 6 x v
In9]:= D[x"2y "3, {xX,2}, {v,2}]
outg= 12 v

In[10:= D[£[x, ¥], X, {y, 2}]

1,2)

out[10= £ %, y]

1A

I_|AI_£!I_|AI/‘




cos(x)sin(y)/(xy) x 2
log(X)sin(y)/x x 2 vy

1<x<3 -2<y<?2
( Plot3D

y
2

3

)



- f(Xx,y) X

2 f(x,y) y

Dt [ , 1
- D[]



+

In[12]:= DE[X*2 + Y2, X]
out[12]= 2 x+ 2 yDt[y, X]
In[19]:= DE[X*2 + Y2, X]
out[19= 2 x+ 2 yDt[y, X]
In[22]:= DE[E£[y], X]

out[22]= Dt [y, x] f[V]

LA LA
I

i L/

Z]
|




+

Integrate|

Integrate|

Integrate|

1

1

98

;]

|

{



In[23]:= Integrate[x"3, x]

Xﬂ_c
Out[23]= —
4

In[24]:= Integrate[x*2, {x, 0, 2}]

3
Out[24]= —
3

In[28]:= Integrate[xy, X, V]
X2 Y2
4

Out[28]=




1-1

2-1



f(x) xO n
Series[ f(x) , { X, X0, n } ]

Normal[ ]



In[89]:= Series[Sin[x], {x, 0, 3}]

X3

OufBdl= = - — + orx1*

In[90]:= Normmal [%]

X3
Qut{90]= x — —

In[91]:= Plot[{Sin[x], %}, {x, 0, Pi}]
1
0.752
0.52

0.25}

..................

-0.25]

Qut[91]= - Graphics -

7 . |

[T |




1. cos(x) x=0

2. 1 cos(X) O<x<PI

3. €os(X) x=Pi/2

2. 3 cos(X) O<x<PI

5. 2,4



+

f(x,y[x])=0
DSolve[ f(x,y)==0, vy, X]

DSolve[{f1==0, f2==0, ...}, {y1,y2,...}, X]
- {}



NDSolve



+

In[159]:= DSolve[ y''[X] == 0, y[X], X]

[ s I |

Cut[159= {{y[x] - C[1] +xC[2]})

n[162:= DSolve[{y' [x] == 1, y[O] == 5}, Y[x], X]

Out[162= {{v[xX] = 5+ x}}

In[201]:= DSolve[ yv''[X] == YV[X], YI[X], X]

Qut[201]= {{v[X] = E_XC[l] +EXC[2]}}




=

N

y'(X)=X, y(0)=0  y(x)
y' (X)=-y(x), y(0)=1

45

y(X)



